BIRKDALE ENTERPRISES PTY LTD

Property Investment & Development

Ref:

FAX TRANSMISSION

TO: Australian Stock Exchange

DATE:

25/11/08

COMPANY:

FAX NO: 1300 135638

FROM:

Frank Roach

FAX NO: (08) 9388 0577

COMPANY: Birkdale Enterprises Pty Ltd

TEL NO: (08) 9388 0566

NUMBER OF PAGES: 4

SUBJECT: Form 604 – Buru Energy Limited

Attached is a Form 604 dated 24/11/08 advising of an increase in our shareholding in Buru Energy Limited.

Frank Roach

604 page 1/2 I5July200I

Form 604 Corporations Act 2001

Section 671B

Notice of change of interests of substantial holder

To Company Name/Scheme

ACN/ARSN

130 651 437

1. Details of substantial holder(1)

Name

Birkdale Enterprises Pty Ltd atft Hay Street Unit Trust

ACN/ARSN (if applicable)

O60 628 668

There was a change in the interests of the substantial holder on

The previous notice was given to the company on

1/10 /2008

2. Previous and present voting power

The previous notice was dated

The total number of votes attached to all the voting shares in the company or voting interests in the scheme that the substantial holder or an associate (2) had a relevant interest (3) in when last required, and when now required, to give a substantial holding notice to the company or scheme, are as follows:

<u>1/ 10 /20</u>08

Class of securities (4)	Previous notice	Previous notice		
Ordinary shares	Person's votes Voting Power (5) 10,000,000 6.16%		Person's votes 11,663,980	Voting power (5) 7.19%

3. Changes in relevant interests

Particulars of each change in, or change in the nature of, a relevant interest of the substantial holder or an associate in voting securities of the company or scheme, since the substantial holder was last required to give a substantial holding notice to the company or scheme are as follows:

Date of change	Person whose relevant interest changed	Nature of change (6)	Consideration given in relation to change (7)	Class and number of securities affected	Person's votes affected
21/11/2008	Birkdale Enterprises Pty Ltd atft Hay Street Unit Trust	Increment	Cash	1,663,980	1,663,980
					1

4. Present relevant interests

Particulars of each relevant interest of the substantial holder in voting securities after the change are as follows:

Holder of relevant interest	Registered holder of securities	Person entitled to be registered as holder (8)	Nature of relevant interest (6)	Class and number of securities	Person's votes
Birkdale Enterprises Pty Ltd atft Hay Street Unit Trust	Birkdale Enterprises Pty Ltd atft Hay Street Unit Trust	Birkdale Enterprises Pty Ltd atft Hay Street Unit Trust	owner	11,663,980	11.663.980

- 1				
		[ľ	
- 1			l	
			l	
E			l	
- 1			l	

5. Changes in association

The persons who have become associates (2) of, ceased to be associates of, or have changed the nature of their association (9) with, the substantial holder in relation to voting interests in the company or scheme are as follows:

Name and ACN/ARSN (if applicable)	Nature of association
1.10	

6. Addresses

The addresses of persons named in this form are as follows:

Name	Address
Birkdale Enterprises Pty Ltd atft Hay Street Unit Trust	Unit 1 567 Hay Street Daglish Western Australia 6008

Sig	ına	tur	e
-----	-----	-----	---

print name

Michael William Hodgson

capacity Director

sign here

date 24 11108

Attachment to be included with Buru Energy Limited (ACN 130 651 637) Forms 604 Faxed 24/11/2008

Appendix 1

Corporation Buru Energy Limited ACN 130 651 437 Share Owner Birkdale Pty Ltd atft Hay St Unit Trust

0.005

Date Puchased	Number	Price	Consideration	Ave Cost	Comm & GST	Total (GST)	Ave Cost (GST)
9/09/2008	1,006,617	0.335076	\$337,293.22		1855.12	\$339,148.34	
11/09/2008	1,013,383	0.332427	\$336,875.61	•	1852.81	\$338,728.42	
12/09/2008	631,095	0.330238	\$208,411.35		1146.27	\$209,557.62	
15/09/2008	330,852	0.337666	\$111,717.35		614.45	\$112,331.80	
16/09/2008	311,948	0.328181	\$102,375.40		563.06	\$102,938.46	
17/09/2008	756,105	0.314998	\$238,171.72		1309.95	\$239,481.67	
18/09/2008	998,766	0.300326	\$299,955.35		1649.76	\$301,605.11	
19/09/2008	306,234	0.302217	\$92,549.03		509.03	\$93,058.06	
22/09/2008	165,000	0.31197	\$51,475		283.11	\$51,758.11	
23/09/2008	1,267,542	0.3149	\$399,259		2195.93	\$401,455.04	
24/09/2008	131,436	0.309743	\$40,711	•	\$223.91	\$40,935.29	
25/09/2008	16,489	0.33	\$5,441		\$29.93	\$5,471.30	
26/09/2008	201,952	0.332556	\$67,160		\$369.38	\$67,529.73	
26/09/2008	194,622	0.335	\$65,198		\$358.59	\$65,556.96	
29/09/2008	2,667,959	0.325	\$867,087		\$4,768.97	\$871,855.65	
10/10/2008	25,000	0.165	\$4,125		\$109.00	\$4,234.00	
13/10/2008	12,384	0.17	\$2,105			\$2,105.28	
20/10/2008	135,406	0.17	\$23,019		\$51.88	\$23,070.90	
24/10/2008	502,210	0.17	\$85,376		\$469.57	\$85,845.27	,
28/10/2008	93,461	0.17	\$15,888		\$87.38	\$15,975.75	
30/10/2008	18,633	0.17	\$3,168		\$17.41	\$3,185.02	
19/11/2008	305,241	0.168034	\$51,291		\$282.10	\$51,573.07	
20/11/2008	356,827	0.169242	\$60,390		\$332.16	\$60,722.44	
21/11/2008	214,818	0.167812	\$36,049		\$198.26	\$36,247.26	
21/11/2008	214,818	0.167812	\$36,049		\$198.26	\$36,247.26	

Totals	11,663,980	7.19%	\$3,505,092.52	\$0.30051	19278.03	\$3,524,370.55	\$0.30216

Total Issued Shares

162,119,728

% held

7.19%

Form 603 lodged at 8,105,987 shares (5%) Form 604 lodged at 10,000,00 shares (+ 6.16 %)

Buru Issued Capital 162,119,728